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Q.NO. VALUE POINTS MARK
1 D) Afghanistan
2 Meaning of sub-continent: Separated from the continent by the physical feature e.g.
Himalayas ('4)
Example: Indian Sub-continent ('4)
3. A. Wheat and Rice 1
4. Jowar And Bajra 1
5. A. It facilitates democratic election 1
6. Institutional Revolutionary Party 1
7. The Spirit of the Laws, a book authored by Montesquieu 2
It proposed a division of power within the government between the legislative, the
executive and the judiciary
8. Subsistence crisis — An extreme situation where the basic means of livelihood are 3
endangered
e The population of France rose from about 23 million in 1715 to 28 million in 1789. This
led to a rapid increase in the demand for foodgrains.
e Production of grains could not keep pace with the demand. So the price of bread which
was the staple diet of the majority rose rapidly.
e Most workers were employed as labourers in workshops whose owner fixed their
wages. But wages did not keep pace with the rise in prices. So the gap between the poor
and the rich widened.
e Drought or hail reduced the harvest
[any two]
9. e In Saudi Arabia ladies didn't reserve the privilege to cast a ballot until 2015. 3
o Estonia has made its citizenship rules so that individuals having a place with
Russian minorities think that it’s hard to get the option to cast a ballot.




« In Fiji, the vote of a native Fiji has more of an incentive than that of an Indian-
Fijian. In a majority rules system, every grown-up resident should have one vote
and each vote should have one worth

10. 1.
Modern Farming
e Follows modern methods of farming
e One crop on a single piece of land during the period
e Using hyv seeds chemical fertilizers ,pesticides and modern technology
e High productivity
e Not environment friendly
Multiple Cropping
e Follows traditional methods of farming
e More than one crops on a single piece of land during the period
e Using traditional seed ,that requires less irrigation ,primitive methods .
e Low productivity
e Environment friendly
[any one]
2. multiple cropping
3. Yield is measured as crop produced on a given piece of land during a single season
11. | Latitudinal extent: 8°4’N and 37°6’N (1 mark)

Implications: (any 2 =2 marks0
1. India- completely located in N. Hemisphere
2. Tropic of Cancer passes through India
3. Difference in duration of day and night in Kanyakumari and Jammu and
Kashmir
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